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Options :

212807127457. 1
212807127458.2
212807127459. 3
212807127460. 4
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Question Number : 486 Question Id : 21280731866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

is used to represent the hidden edges of an object.

(1) Dash/Dotted line

2) Continuous thick line
(3) Continuous thin line

{4) Chain thin line
Options :
212807127461. 1
212807127462, 2

212807127463. 3
212807127464. 4

~—

Question Number : 486 Question Id : 21280731866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
a5 ¥ fol gu R = @ zatm S )
(1) Tw/eks @
(2) Had € W
(3) wad vt T
(4) = el @
Options :

212807127461. 1
212807127462. 2
212807127463. 3
212807127464. 4

Question Number : 487 Question Id : 21280731867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

We need true to draw orthographic views.

(1) Location and colours
(2) Shape and location
(3) Size and location

(4) Shape and Size

Options :

212807127465. 1
212807127466. 2
212807127467. 3
212807127468. 4
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Question Number : 487 Question Id : 21280731867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
siamsnfa g am sl wd i swwd

(1) SHEgen

(2) ST o g
(3) SIRRR G ITE

(4) 3pTa qo SFR

Options :

212807127465. 1
212807127466. 2
212807127467. 3
212807127468. 4

Question Number : 488 Question Id : 21280731868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A solid without any edge or vertex when visualized from any direction appears as a circle is

(1) Prism

(2) Cylinder

(3) Cone

(4) Sphere
Options :

212807127469. 1
212807127470. 2
212807127471. 3
212807127472. 4

Question Number : 488 Question Id : 21280731868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e B R St Taren Femeft Fonet o o % R, o Rl A R A3 €, At gu Rmw & =@ EE|
2

(1 Ty

(2) dH

(3) ¥¥
(4) e
Options :
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212807127469. 1
212807127470. 2
212807127471. 3
212807127472. 4

Question Number : 489 Question Id : 21280731869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
The only difference between iscmetric view and isometric projection of a cube is its .
(1) angle
(2) face
(3) scale used
(4) axis
Options :

212807127473. 1
212807127474. 2
212807127475. 3
212807127476. 4

Question Number : 489 Question Id : 21280731869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T 99 %GR gva ofr gwufimre yequ ¥ g § e TH AR 395 H
(1) Hm
(2) wETH
(3) Turd = weR
(4 %
Options :

212807127473. 1
212807127474. 2
212807127475. 3
212807127476. 4

Question Number : 490 Question Id : 21280731870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

is used for drawing isometric projection.

(1) Isometric Scale

(2) Full-size Scale

(3) Enlarged Scale

(4) Vernier Scale
Options :

212807127477. 1
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212807127478. 2
212807127479. 3
212807127480. 4

Question Number : 490 Question Id : 21280731870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

gjiprehension ;]/Ia(l:l(l;
goefEm gE W e B R T %A R

(1)  Fuufemmr I
(2) YUt SR T o
(3) g g Y

(4) s Tam

Options :

212807127477. 1
212807127478. 2
212807127479. 3
212807127480. 4

Question Number : 491 Question Id : 21280731871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Choose the Correct statement for the given figure :

b
il 2
- e
5 P
L L
B —::T"\_
: T,
By <G
Pt o T
9 1 &2
&

(1

—

3

Options :
212807127481. 1

) Its axis is perpendicular to H.P.
2) Its axis is perpendicular to V.P.

) Its axis is parallel to both H.P. and V.P.
(4) Its axis is inclined to H.P.

-

s collegedunia:



212807127482. 2
212807127483. 3
212807127484. 4

Question Number : 491 Question Id : 21280731871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Forst o smrenfla Wt faemey st = ife

(1) 9 A1 T, F e §1
2) g o1y A0 ¥ o B
(3)

—

TR TR T aer S S S uHETE |1

(4) TUH 3T WU W R I F ]

Options :

212807127481. 1
212807127482.2
212807127483. 3
212807127484. 4

Question Number : 492 Question Id : 21280731872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-
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Choose the Correct statement for the given figure :

T

-

(1

(3

Two of its base edges are perpendicular to V.P.
ge perp
2)  All of its base edges are parallel to V.P.
ge P
) Two of its base edges parallel to V.P.

(4) Its One base edge is parallel to V.P. and one base edge is perpendicular to V.P.

Options :

212807127485. 1
212807127486. 2
212807127487. 3
212807127488. 4

Question Number : 492 Question Id : 21280731872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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F
(1) e9% snar A1 q yoId i dl. & orvaed §1
(2) TG% IMuR A Tt e AR mEeR
(3)  wak smure § yord fd, & wmrrar #
(4) EU® R H W g o ¥ guer ], e onur Y we o . ¥ erera B

Options :

212807127485. 1
212807127486. 2
212807127487. 3
212807127488. 4

Question Number : 493 Question Id : 21280731873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Choose the incorrect statement for the given figure :

.
P -
T -
M"\._ .
R&J‘I“_;j’;
- T
- | .
t"- ! . "-.._\_

F

(L
2) Two triangular faces are parallel to the V.P.
(3)

p—.

(4) Hemisphere is placed on its curved surface on H.P.

Options :

212807127489. 1
212807127490. 2
212807127491. 3
212807127492. 4

Triangular prism is resting on one of its long edges.

Hemisphere is placed on the top rectangular face of an equilateral triangular prism.

Question Number : 493 Question Id : 21280731873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-
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Options :

212807127489. 1
212807127490. 2
212807127491.3
212807127492. 4

Question Number : 494 Question Id : 21280731874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Choose the Correct statement for the given figure :

-

(1

(3

Common axis of both solids is vertical.

)
(2) Common axis of both solids is horizontal.
)

Axis of cone is perpendicular to H.P. and axis of pentagonal slab is parallel to H.P.

(4) Axis of cone is perpendicular to V.P. and axis of pentagonal slab is paraliel to V.P.

Options :

212807127493. 1
212807127494. 2
212807127495. 3
212807127496. 4

Question Number : 494 Question Id : 21280731874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-
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Options :

212807127493. 1
212807127494. 2
212807127495. 3
212807127496. 4

Question Number : 495 Question Id : 21280731875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Number of triangles in given figure :

(1) Six
(2) One
(3) Three
(4) Two

Options :

212807127497. 1
212807127498. 2
212807127499. 3
212807127500. 4

Question Number : 495 Question Id : 21280731875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
fromfmdfgifidgen 2

(1
2)
3)
(4)
Options :
212807127497. 1
212807127498. 2

212807127499. 3
212807127500. 4

%3

-

s collegedunia:



Question Number : 496 Question Id : 21280731876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

is not a temporary fastener.

(1) Bolt

(2) Nut

(3) Rivet

(4) Stud
Options :

212807127501. 1
212807127502. 2
212807127503. 3
212807127504. 4

Question Number : 496 Question Id : 21280731876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teh STerll stren T8 &

(1) e
2 =
(3) Fae
4 ¥s
Options :

212807127501. 1
212807127502. 2
212807127503. 3
212807127504. 4

Question Number : 497 Question Id : 21280731877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The radius taken to draw crest/root in knuckle thread is where T is the pitch of

thread.
(1) P/2
(2) P/3
3) P/8
(4) P/4
Options :

212807127505. 1
212807127506. 2
212807127507. 3
212807127508. 4
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Question Number : 497 Question Id : 21280731877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
TFel 9ol 4 Heree 99 ¥ forw Prem o st &, el P g o g B
(1) P/2
(2) P/3
(3) P/8
(4) P/4
Options :
212807127505. 1

212807127506. 2
212807127507. 3
212807127508. 4

Question Number : 498 Question Id : 21280731878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Both crest and root are round in
(1) B.S.W. Thread

(2) Metric External Thread

(3) Metric Internal Thread

(4) Square Thread

Options :

212807127509. 1
212807127510. 2
212807127511. 3
212807127512. 4

Question Number : 498 Question Id : 21280731878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

 Hewdu & g6 vt E

(1) ey g
(2) e il g
(3) @ Hifgw g
(4) R g

212807127509. 1
212807127510. 2
212807127511. 3
212807127512. 4
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Question Number : 499 Question Id : 21280731879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Chamfering of head of a bolt is done to

(1) add extra material

{2) remove sharp corners to ensure safety of users
(3) cut the manufacturing cost

(4) make its surface rough

Options :

212807127513. 1
212807127514. 2
212807127515. 3
212807127516. 4

Question Number : 499 Question Id : 21280731879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TS & 8 B AHE T S R

(1) fafea v slren % ford

(2) SoeurTEHT H1 YW % R @@ el B wn & ol
(3) ErTd  HY HE & ol

(4) THH G- A GERU 997 F o

Options :

212807127513. 1
212807127514. 2
212807127515. 3
212807127516. 4

Question Number : 500 Question Id : 21280731880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The size of chamfer circle is taken as in square/hexagonal headed bolt and nut with

nominal diameter ‘d’.
(1) 18dor18d+8
(2) 2dor2d+6

(3) 15dorlbdd+3
(4) 08dor08d+8

Options :

212807127517. 1
212807127518. 2
212807127519. 3
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212807127520. 4

Question Number : 500 Question Id : 21280731880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TR/ SEH dtee % B ot F2 % YrnT g1 1 ey Form <man &, Forerasr ifer o9 ‘d’

B

(1) 18d1.8d+8
(2) 2dor2d+6

(3) 1.5d 91 1.5d+3
(4) 08d#0.8d +8

Options :

212807127517 1
212807127518.2
212807127519. 3
212807127520. 4

Question Number : 501 Question Id : 21280731881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the incorrect statement in case of plain washer :

(1) Itis placed below nut to give flat smooth bearing surface.
(2) [tis used where surface of machine part is rough.

(3) It prevents nut from cutting in to the metal.

(4) It usually loosens the joint of bolt and nut.

Options :

212807127521. 1
212807127522. 2
212807127523.3
212807127524. 4

Question Number : 501 Question Id : 21280731881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
& AR 3 Toru T e 1 G B

(1) o ugaa Frsrt wae 37 % faw e 3 9 Tar st 81

(2) g e B s el wehe ) wds weed @

(3) g R urg WA Fred Y Jwar T

(4) I e W Sree ofit a2 & Sirg #t Sion wA % faw g@re fR s 3

Options :
212807127521. 1
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212807127522. 2
212807127523. 3
212807127524. 4

Question Number : 502 Question Id : 21280731882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In conventional representation of external V-Thread, rcot is represented by in its front
view.

(1) Thin Line

(2) Thick Line

(3) Dotted Line

(4) Chain Line

Options :

212807127525 1
212807127526.2
212807127527.3
212807127528. 4

Question Number : 502 Question Id : 21280731882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
V-8 F T o ¥, ¥ i s9d 9w gva i ¥ feren s &
(1) et @
(2) W
(3) fergfena
(4) ot
Options :

212807127525. 1
212807127526. 2
212807127527. 3
212807127528. 4

Question Number : 503 Question Id : 21280731883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the top view of a vertical stud, two complete and one broken circle is shown in

(1) Plain stud

(2) Stud with square neck

(3) Collar stud

(4) Hexagonal headed bolt
Options :
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212807127529. 1
212807127530. 2
212807127531.3
212807127532. 4

Question Number : 503 Question Id : 21280731883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T SR We & w08 gvg 1, & 1 a9 T T2 51 5, H e s €1
(1) @TEs
(2) BRI HE €

(3) W Wy
(4) wesg §Fe wiee
Options :

212807127529. 1
212807127530. 2
212807127531.3
212807127532. 4

Question Number : 504 Question Id : 21280731884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

It is a cylindrical piece of metal having threads at both ends and non threaded portion of square
cross-section at the centre.

(1) Turnbuckle
(2) Stud with square Neck

(3) Sleeve
(4) Square headed bolt
Options :

212807127533. 1
212807127534. 2
212807127535.3
212807127536. 4

Question Number : 504 Question Id : 21280731884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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7% Ueh ASFRR U ghet 8, T 4l fadl w9 § ofw wea | ol STy S Sen e ¥
(1) =dEIRd

(2) EMHR FH GO W

(3) A

(4) iR §8y dee

Options :

212807127533. 1
212807127534.2
212807127535.3
212807127536. 4

Question Number : 505 Question Id : 21280731885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
The head thickness of a Snap head rivet is . (Where d is rivet diameter)
(1 d
(2) 154
(3 07d
(4) 09d
Options :

212807127537. 1
212807127538. 2
212807127539. 3
212807127540. 4

Question Number : 505 Question Id : 21280731885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
H Y §5 fde % & o Herd B (R fRde wmam@ d' ®)
(1 d
2) 15d
(3) 07d
(4) 094d
Options :

212807127537. 1
212807127538. 2
212807127539. 3
212807127540. 4

Question Number : 506 Question Id : 21280731886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value |
Comprehension MCQ
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Two continous thick circles are shown in the top view of vertical
(1) Pan Head Rivet

(2) Snap Head Rivet

(3) 60° CSK Head

(4) Flat Head Rivet

Options :

212807127541. 1
212807127542. 2
212807127543. 3
212807127544. 4

Question Number : 506 Question Id : 21280731886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
U SRl F ool gva ¥ < dag W g e e §)

(1) %9 % fde

(2) T fde

(3) o0 MuaF. g fde
(4) v e fae

Options :

212807127541. 1
212807127542.2
212807127543.3
212807127544. 4

Question Number : 507 Question Id : 21280731887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The shape of a cotter is .
(1) Circular

(2) Wedge shaped

(3) Cylindrical

(4) Oval shaped

Options :

212807127545. 1
212807127546. 2
212807127547.3
212807127548. 4

Question Number : 507 Question Id : 21280731887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value |
Comprehension MCQ

s collegedunia:
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HTeT w1 el 7

(1) JasR

(2) THEHR

(3) EEFRR

(4) 3SYSTHR
Options :

212807127545. 1
212807127546. 2
212807127547. 3
212807127548. 4

Question Number : 508 Question Id : 21280731888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Open bearing is useful for shafts rotating at
(1) Super fast speed
(2) High speed
(3) Slow speed
(4) Medium speed
Options :
212807127549. 1
212807127550. 2

212807127551. 3
212807127552. 4

Question Number : 508 Question Id : 21280731888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

3ire fagfin T gt g8 vitwe & forn gedndt €1
(1) sreafys ge wfd

(2) s

(3) il fa

(4) 9wy ifg
Options :

212807127549. 1
212807127550. 2
212807127551. 3
212807127552. 4

Question Number : 509 Question Id : 21280731889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

s collegedunia:

-



IComprehension IMCQ

Shape of cil hole in Bush Bearing is .
(1) Hexagonal

(2) Pentagonal

(3) Triangular

(4) Counter Sunk

Options :

212807127553. 1
212807127554. 2
212807127555. 3
212807127556. 4

Question Number : 509 Question Id : 21280731889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

w0 Toafen § a fog =) ol 81
(1) WEqSIER
(2) TESERR

(3) FrremER
(4) HIET-HE

Options :

212807127553. 1
212807127554.2
212807127555.3
212807127556. 4

Question Number : 510 Question Id : 21280731890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the incorrect statement for Sleeve and cotter joint :

(1) This joint is used to join two rods of square or rectangular in cross-section.
(2) There are five parts used in this joint.

(3) Tweo cotters are used in this joint.

(4) A hollow sleeve has two rectangular holes for inserting cotters.
Options :
212807127557. 1
212807127558. 2
212807127559. 3
212807127560. 4

Question Number : 510 Question Id : 21280731890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

s collegedunia:

-



|Comprehension IMCQ

wig iR Flet Sirg & fau e fasrey = goma Y .

(1) % <5 < ITERIR I SARFAIHR IR HIE 1 T hl g ¥ g fopan s 1
(2) 79 StgH wet dra ol et R s &)

(3) TU S ¥ g Wi W e e S ¥

(4) U Ereell Wit § wmet o e % fan § srraer fog §

Options :

212807127557. 1
212807127558.2
212807127559. 3
212807127560. 4

Question Number : 511 Question Id : 21280731891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In Gib and cotter joint, if the thickness of cotter is 8 mm, then thickness of gib will be

(1) 10 mm
(2) 06 mm
(3) 15 mm
(4) 08 mm

Options :

212807127561. 1
212807127562. 2
212807127563. 3
212807127564. 4

Question Number : 511 Question Id : 21280731891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
e ol it Siig ), afe wex 1 dieE 8 fudl, & @ g =) die g1
(1) 10 .
(2) 06 fuHi,
(3) 15 fHL
(4) 08 f
Options :

212807127561. 1
212807127562. 2
212807127563. 3
212807127564. 4

Question Number : 512 Question Id : 21280731892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

s collegedunia:

-



Key Value
Comprehension MCQ

Turnbuckle joint is not used in
(1) Electric poles

(2) Boxing rings

(3) Pipe joint

(4) A sail boat’s standing
Options :
212807127565. 1
212807127566. 2

212807127567. 3
212807127568. 4

Question Number : 512 Question Id : 21280731892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
CACECToie £ H seaarer 98 T e €1
(1) Taseft % ged
(2) TR R
(3) WEw g
(4) & UE-T9 LT
Options :

212807127565. 1
212807127566. 2
212807127567. 3
212807127568. 4

Question Number : 513 Question Id : 21280731893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In flange pipe joint, both flanges with gasket in between them are connected together by

(1) Welding

(2) Riveting

(3) Stud

(4) Nutand Bolt
Options :

212807127569. 1
212807127570. 2
212807127571. 3
212807127572. 4

Question Number : 513 Question Id : 21280731893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

s collegedunia:

-



IComprehension IMCQ

Y wrey St |, 1 st F i ade i orva o ¥ G SIS e § 1
(1y afgn
() Fafdn

s

(3) ¥s
(4) e e
Options :

212807127569. 1
212807127570. 2
212807127571. 3
212807127572. 4

Question Number : 514 Question Id : 21280731894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL
List - I List - IT
(Solids) (Their Features)

(A) Prism (Iy Baseis a circle.

(B) Pyramid (I Two similar ends and rectangular faces.

(C) Cone (Ill) Two circular faces and one curved surface.

(D) Cylinder (IV) One base and slant triangular faces.

Choose the correct answer from the options given below :
1) A0, B-IO), (O-(1), (DHIV)

() @A), B)-V), €)1, (D))

(@) (A)-V), (B, (O-1), (D)-0)

4) (A, B)-(), (C{ID, (D)-IV)

Options :

212807127573. 1

212807127574. 2

212807127575. 3
212807127576. 4

Question Number : 514 Question Id : 21280731894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag

-



Tl - 1 Gt - 114 fedr &Y
Tl -1

(D) & (IV) T U ger fid Fassre weors

el - 11

(fregrm)

ST T FH &

& uF Y foriR gen SETRR R
B AT Foleh Tl Wh o6 Y

@)
(A) o 0
(B) fitfug {1
(C) vig (IIT)
i fed 1 fomedt § & W S

(1) (A0, (B, (C)-(IID), (D}(IV)
(2) (A1), (B)-(IV), (C)-(D), (D)D)
(3) (A1), (B)-(IID), (O)-D), (D)-(T)
(4)  (A)-m), (B)-(D), (O-(ID), (DHIV)

Options :

212807127573. 1
212807127574.2
212807127575.3
212807127576. 4

Question Number : 515 Question Id : 21280731895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Match List - I with List - II. (for [sometric scale)

List -1

(A) Angle of Line indicating Isometric

lengths with base line.

(B) Angle of line showing true lengths

with base line.

(C) Angle between lines showing

isometric lengths and true lengths.
(D) Angle of projectors with base line.
Choose the correct answer from the options given below :
N @&, B-0), (OAIV), (D))
@) (A)-D), B, ©-I), DHIV)
(3) &0, B-I), (O-(1D, (DR(IV)
4 (A)-1V), B, (O-0), (D)

Options :

212807127577 1
212807127578. 2
212807127579. 3
212807127580. 4

gcollegeduniaa

-



Question Number : 515 Question Id : 21280731895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Tt - L1 Gt - 118 foam 3 (aaafiam gaan & faw)

il - 1 .11
(A) ST o WY GO ofvag el S st R () 15°
(B) SNMR % Wy qrfas orars qefl Ten we (0)  30°
(C)  auforro wrand ot arafee ward feam () 45°

refl el % e w1 B
(D) STYTE % Y YRR &1 M (V) 90°
i el 1 Toaered 9 9 W@ 9 A

(1) (M), B}, (CHIV), (D)}
() (A)-(1D), (B)-(ID), (©)-(1, (DIIV)
(3) (A, (B, (I, (D}IV)
(4 (A1), B, (-0, (DK
i 137577. 1
212807127578. 2

212807127579. 3
212807127580. 4

Question Number : 516 Question Id : 21280731896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - [ with List - IL
List - 1 List - II
(A) Pipes are used to carry. () By means of nut and Bolt
(B) Faces of flanges are machined at right () For preventing leakage
angles to the axis of pipe.
(C) Gasket is used in between faces of two (II) For perfect alignments
flanges.
(D) Flanges with gasket in between are (IV) water, oil, steam or gas etc. from one
connected together. place to another place

Choose the correct answer from the options given below :
(1) (AN, (BI), (O, (D}(V)
(2)  (A)(ID, (B)-(ID), (CO)-(IV), (D)-()
(3)  (A-IV), (B)-(I1D), (O-D), (D)-O)
4) (A0, BRIV), (O-(ID), (D)-I)

Options :
gcollegeduniaa

-



212807127581. 1
212807127582. 2
212807127583. 3
212807127584. 4

Question Number : 516 Question Id : 21280731896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl - 1 Gt - 11 a0

T - 1 el - 11

(A) TIEY H e A SH F ford wa § () ¥ wwdice F w

(B) NS % eAeh! Wl UREY F 1 A v () Feove = T3 & ol
wefireon fapan sar &

(©Q e @ g 9wl F wored & ofty F S ¥ (mde & fag

(D) e A Wrede & e g ) e oren & (IV) WY, e, T s, ST R ue e

S iGED

Ay fod 8 Rypedt F & = s g

(1) (A, (B)-(ID), (O, (D}(1V)

(2) (AL, (B)-(ID), (O)-(IV), (D)-(I)

(3)  (A)(1V), (B)-(IID), (O-(I), (D)-(1)

(4) (A1), (B)-(IV), (O)-(III), (D)-(IN)

Options :

212807127581. 1
212807127582. 2
212807127583. 3
212807127584. 4

Question Number : 517 Question Id : 21280731897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag

-



Match List - T with List - IL

List - I List - IT
{Assemblies) (Number of parts used)
(A) Open Bearing H 5
(B) Sleeve and cotter joint (my 4
(CO) Gib and cotter joint (on 3
(D) Turnbuckle (Iv) 2

Choose the correct answer from the options given below :
(0 (A)-D, (B)-(I), (O, (D)HIV)

2)  (A)-AV), (B)-(0), (O-(1D, (D)-(IM)

(3) (AN, B)-(I1D), O)-(IV), (D)-(0)

(4) (A, (B-1V), (O)-(), (D)-(T)

Options :

212807127585. 1

212807127586. 2

212807127587. 3
212807127588. 4

Question Number : 517 Question Id : 21280731897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - 11 gt - 11 g )

;Eﬂ'-l =11
( srirwrett) iR ot T i ) )

(A) o fanfln on 5
(B) wfig iR et sy (I 4
(© fim iR sl sig (I 3
(D) edEERe (v) 2
Hia fed 1 Tawed § 9w s 9

(1) (A0, (B}, (O-(I), (D}(1V)
() (A)1V), (B, (O, (DI
(3) (A, B, ©-(IV), (D0
(4) (A, B)-IV), (O-0), (D))
i 13755. 1
212807127586. 2

212807127587. 3
212807127588. 4

Question Number : 518 Question Id : 21280731898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
s collegedunia:

-



Key Value

Comprehension MCQ

Match List - I with List - IL
List - 1
(Details of Collar stud)

{A) Threaded length of nut end
(B) Diameter of collar

(C) Thickness of collar

(D) Length of metal end

Choose the correct answer from the options given below :

(1) (AHIY), (B, (©-(1), (D)0
() (AHD, (B, (O, (D)-(IV)
(3) (A, B-V), (O, (D)D)
(49) (A, (B)-(ID), (C-(1D), (D)}(IV)
s 37589
212807127590. 2
212807127591. 3
212807127592. 4

List - II

(Standard dimension)

(Where ‘d” is nomial diameter of stud)

O d
m o04d

@an 15d
(V) 2d+6

Question Number : 518 Question Id : 21280731898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - 11 gt - 114 et 3
Tl -1

( FTeR T = faawor)
(A) 2 Fat oY weer erard o)
(B) hIeR & o019 (1)
(C)  ier &) H9RE (111
(D) "ea Fay &t v (V)
H el 1 foeredi d 9 W s g

(1) (A)-1IV), (B)-(1D), (O)-(11), (D)-(I)
(2)  (A)(D), (B)-(ID), (C)(III), (D)-(IV)
(3) (A0, B)-IV), (C-(D, (D)-(II)
(4) (A0, (B)-(TI), (O-(ID), (D}(IV)
37589, 1
212807127590. 2

212807127591. 3
212807127592. 4

gcollegeduniag

-



Question Number : 519 Question Id : 21280731899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Match List - I with List - IL

(Thread of P =Pitch, d= Actual depth and D =Theoretical depth)
List - I List - II

(A) BS.W. Thread H d=061P

(B) Metric thread (internal) () D=096P

{C) Metric thread (external) (Il) d=054P

(D) Square thread {Iv) D=050P

Choose the correct answer from the options given below :

1 &0, B-I), (O, (D-(IV)

(2)  (A)-IV), (B)-(IID), (O)-(ID), (D)-(T)

(3) (A1), (B)-(1), (O-(IV), (D)}-(I)

(4) (A0, B)-I), (©-D, (D-(1V)

Options :

212807127593. 1
212807127594. 2
212807127595. 3
212807127596. 4

Question Number : 519 Question Id : 21280731899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - 11 gt - 114 et 3
&t w1 fag ‘P 8 d = arafas 780E (Actual Depth) D = 8gifas® 8UE (Theoretical DEPTH)
e -1 - 11

(A) dHumes 98 (D d=061P
(B) e Hifew 9§ () D=096P
(©) & vifesw 96 () d=054P
(D) aiEr I (IV) D=050P
= & 7 foedi § 4 W@ S

(1) {(A)-D), (B)-(II), (O)-(I1L), {D)-{IV)
(2)  (A)IV), (B)-(ID), (O)-(11), (D)-(I)
(3) (A)-D, (B)-(D), (O-(IV), (D)-(I)
(4) (A1), B)-), -0, (D)-IV)
Options :

212807127593. 1
212807127594. 2

212807127595. 3
s collegedunia:
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212807127596. 4

Question Number : 520 Question Id : 21280731900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct statements for the given figure :

=
D/
I
1""&.,_ . A
-
B ey

1‘.'5 L e d i

5 .%
O -,

(A) A triangular pyramid is resting on H.P. on its base.
(B) A twriangular pyramid is resting on HL.P. on its apex.
(C) Axis of pyramid is perpendicular to H.P.

(D) Axis of pyramid is parallel to H.P.

(E) Axis of pyramid is perpendicular to V.P.

Choose the correct answer from the options given below :

(1) (A)and (B) Only
(2) (B and (D) Only
(3) (A)and (C) Only
(4) (D) and (E) Only

Options :

212807127597. 1
212807127598. 2
212807127599. 3
212807127600. 4

Question Number : 520 Question Id : 21280731900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(A) F Frgener fiifas wadl. o oTud oNuR T TEn B
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(C) Tiiefire =t s1ar v d. o o B
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F

(B) fiiefire =1 e ot 3 wrvareq €1
Hro fed v faeedt d 4 Wl e g

(1) %9 (A) 3R (B)
(2) a4 (B) iR (D)
(3) T (a) (O
(4) et (D) 3R (E)
Options :

212807127597. 1

212807127598. 2

212807127599. 3
212807127600. 4

Question Number : 521 Question Id : 21280731901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag

-



Identify the correct statements for the types of projection :

(A) Axonometric projection is of three types.

(B) In dimetric projection, all the angles between principal axes are equal.

(C) Inisometric projection, lines parallel to principal axes are known as isometric line.
(

(

J

) Perspective projection is a type of parallel projection.
E) Orthographic projection is a single plane projection.
Choose the correct answer from the options given below :

(1)  (B) and (D) Only

(2) (A)and (C) Only
(3) (B) and (E) Only
(4) (D) and (E) Only
Options :

212807127601. 1
212807127602. 2
212807127603. 3
212807127604. 4

Question Number : 521 Question Id : 21280731901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

YU % YR & AT T w6 ugEH HY

(A) srafafg werqur f weR & €@ 1

(B) Tsfufiry wéraw & ger o1all % weg & @l o wEE B ¥

(C) guufearer garaur ¥ e el F i vaed w waufor an w8 €
(D) ufleer warqor GHMTE TR0 H Th TR &

(E) erraenifirg waiav sk det aren waem 2

i fedy 7 Forred F D W wa 9T
(1) e (B) @ (D)
(2) Had (A) q(O)
(3) %ad (B) 7 (E)
(4) HEd (D) 70 (E)

212807127601. 1
212807127602. 2
212807127603. 3
212807127604. 4

Question Number : 522 Question Id : 21280731902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value |

Comprehension MCQ
gcollegeduniag

-




Identify the correct statements for the given figure :

A) A hexagonal prism is resting on a pentagonal prism.

B) A pentagonal pyramid is resting on a hexagonal prism.
C) Common Axis is perpendicular to H.P.

D) Common Axis is Parallel to H.P.

E) A Pentagonal prism is resting on a hexagonal prism.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (C) and (E) Only
(3) (B)and (D) Only
(4) (A)and (E) Only
Options :

212807127605. 1

212807127606. 2

212807127607. 3
212807127608. 4

Question Number : 522 Question Id : 21280731902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension MCQ
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212807127605. 1
212807127606. 2
212807127607. 3
212807127608. 4

Question Number : 523 Question Id : 21280731903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Identify the correct statements for the Rivets :
(A) Rivets has threaded portion at one end.
(B) Rivets are called headless bolt.

(C) Rivets are permanent fasteners.

(

(

J

) Rivets are widely used in clay articles.
E) Rivets are used in boilers.
Choose the correct answer from the options given below :
(1) (A) and (D) Only
(2) (B and (C) Only
(3) (O and (E) Only
(4) (D) and (E) Only

Options :

212807127609. 1
212807127610. 2
212807127611. 3
212807127612. 4

Question Number : 523 Question Id : 21280731903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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212807127609. 1
212807127610. 2
212807127611. 3
212807127612. 4

Question Number : 524 Question Id : 21280731904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value |
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Identify the correct statements for the Nut :

(A) Chamfering is done to save material.

(B) A circular disc having a non-threaded hele is nut.
(C) A prism having a threaded hole is nut.

(D) Thickness of nut is equal to nominal diameter of its bolk.

(E) Only octagonal nuts are used every where.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (© and (D) Only
(3) (D) and (E) Only
(4) (B)and (C) Only
Options :
212807127613. 1
212807127614. 2

212807127615. 3
212807127616. 4

Question Number : 524 Question Id : 21280731904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807127613. 1
212807127614. 2
212807127615. 3
212807127616. 4

Question Number : 525 Question Id : 21280731905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value I
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Identify the correct statements for the Gib and cetter jeint :
(A) In gib and cotter joint two cotters are used.

(B) Cotter is a permanent fastener.

(C) Usually taper ratic of cotter is taken as 1:30.

(D) The thickness of gib is same as that of cotter.

(E) Both gib and cotter have taper on their all edges.
Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A)and (B) Only

(3) (D) and (E) Only

(4) (B)and (C) Only
Options :
212807127617. 1
212807127618 2

212807127619. 3
212807127620. 4

Question Number : 525 Question Id : 21280731905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807127617. 1
212807127618. 2
212807127619. 3
212807127620. 4

Sub-Section Number : 2
Sub-Section Id : 2128072515
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 526 Question Id : 21280731906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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llegedunia:

-



Question Key Details :

Key Value
Comprehension Compl

Read the following passage and answer the following question.

An engineering institute took their diploma students for an industrial visit to enhance their practical
knowledge. After visiting the industry, students were very enthusiastic and inquisitive of the things
they saw there. They asked their teacher about the helical grove cutting on a cylinder on external
side using a machine called lathe. The teacher told them that this process is called threading and
explained in detail.

A screw thread is an operating element of fastening.
(1) perspective

(2) temporary

(3) isometric

(4) permanent

Options :

212807127621. 1
212807127622.2
212807127623. 3
212807127624. 4

Question Number : 526 Question Id : 21280731906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Question Number : 527 Question Id : 21280731907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Read the following passage and answer the following question.

An engineering institute took their diploma students for an industrial visit to enhance their practical
knowledge. After visiting the industry, students were very enthusiastic and inquisitive of the things
they saw there. They asked their teacher about the helical grove cutting on a cylinder on external

side using a machine called lathe. The teacher told them that this process is called threading and
explained in detail.

The outermost part of the threaded portion is called :

(1) Flank

(2) Root

(3) Crest

(4) Pitch
Options :

212807127625. 1
212807127626. 2
212807127627. 3
212807127628. 4

Question Number : 527 Question Id : 21280731907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Read the following passage and answer the following question.

An engineering institute took their diploma students for an industrial visit to enhance their practical
knowledge. After visiting the industry, students were very enthusiastic and inquisitive of the things
they saw there. They asked their teacher about the helical grove cutting on a cylinder on external
side using a machine called lathe. The teacher told them that this process is called threading and
explained in detail.

The part on which external threads are formed is called :

(1) Nut

(2) Bolt

(3) Rivet

(4) Washer
Options :

212807127629. 1
212807127630. 2
212807127631. 3
212807127632. 4

Question Number : 528 Question Id : 21280731908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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212807127629. 1
212807127630. 2
212807127631. 3
212807127632. 4

Question Number : 529 Question Id : 21280731909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Key Value
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Read the following passage and answer the following question.

An engineering institute took their diploma students for an industrial visit to enhance their practical
knowledge. After visiting the industry, students were very enthusiastic and inquisitive of the things
they saw there. They asked their teacher about the helical grove cutting on a cylinder on external

side using a machine called lathe. The teacher told them that this process is called threading and
explained in detail.

The special curve used in a screw thread is
(1) Hyperbola
(2) Parabola

(3) Ellipse
(4) Helix
Options :

212807127633. 1
212807127634. 2
212807127635. 3
212807127636. 4

Question Number : 529 Question Id : 21280731909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Read the following passage and answer the following question.

An engineering institute took their diploma students for an industrial visit to enhance their practical
knowledge. After visiting the industry, students were very enthusiastic and inquisitive of the things
they saw there. They asked their teacher about the helical grove cutting on a cylinder on external
side using a machine called lathe. The teacher told them that this process is called threading and
explained in detail.

The surface between crest and root in a thread is called :

(1) Flank

(2) Pitch

(3) Lead

(4) Thread limits
Options :

212807127637. 1
212807127638. 2
212807127639. 3
212807127640. 4

Question Number : 530 Question Id : 21280731910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :
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Options :

212807127641. 1
212807127642. 2
212807127643. 3
212807127644. 4
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Options :

212807127645. 1
212807127646. 2
212807127647. 3
212807127648. 4
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212807127653. 1
212807127654. 2
212807127655. 3
212807127656. 4

Question Number : 534 Question Id : 21280731914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

collegedunia:



Options :

212807127653. 1
212807127654. 2
212807127655. 3
212807127656. 4

Question Number : 535 Question Id : 21280731915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

collegedunia:



Options :
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